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Instructions ;
s Anower le .'fH'i'hHJ.FH flqi‘.'l-f'urf it FRSErNCTors

o Anoer the guestions according (o the score and time

Answer any TWD if e Snons from NI ."_-m /] r,-'!n'umri- Carrles | scori

L Iftheatomic mass of Nitrogen is 14, which one does notagree w ith 1 mole ato
gen?

a) 14 nitrogen b1 GAM nitrogen
¢) 1 GMM nitrogen  d) 6.022 x 10* atoms of nitrogen

3 ldentify the first F.'iir and then complete the second pair.

Charles” Law : 7" aconstant; Boyle's Law @ ...
3. *X'isanclementof 1 7 group. The number of *p’ electrons in the valence shell of the atom
i g DRI
Answer any TWO guestions from 4 to 6, Each question carries 2 scores (2x2=4)
4. a) Write down the sub shell electron configuration of the element Q.
(The svymbol *Q’is not real)

b) Mention the group number and block of the element in the Periodic Table.
5//’ Certain data regarding various gases kept under the same conditions of

temperature and pressure are given below, -
Gas Volume (L) No, of molecules

Nitrozen 10L X
Ammomia - . 10L . s D !
Carbondioxide | .......... - Ve

a) Complete the table.

b) Which Gas Law is applicable here?

6.~ Aceruin quantity of gas, containing ‘n” molecules is now keptin H.jar. It is then transferred
to a 5L jar, keptat the same conditions. What will be the new volume of the gas in that jar?
How many molecules will be there in the new jar? -
7. Gothrough the following statements carefully. |
From among these statements, identify the ones, applicable to s-block elements,
puo:kchnunsmdd—blmke}mmts.
« ¢ Noble gas elements belong to this block,
o Afewelements of this block are metalloids.
'« Most of them are artificidlly prepared elements.
j.Hmﬁ:mfmlm:cdm?i@ﬁﬁnmﬂmufmmtlmmmwgnwnmm
are filled in dmuﬂﬂp:_m‘iﬁumtﬂ shell.
@ Elements show similarities in properties notanly in groups, butalso m___;:mods.



Answer anmy TWU glesitont from . In ¥ Fach gquesiinn i arries 3 xcorexs () ¥ '

R Theelement ‘Y ingroup 17 has 3 dhells in its atom, ('Y 18 an imaginary symbol of the
element). L 50,
o) Write down the sub shell electron configurtion of the element
) How many valence electnons ire there in 1t il i What is its common valency”
¢y Write down the formula of the compoundd, formed when 'Y combines with
Alurminivem (7= 13).
9 1) Write down the statement of Charles’ Law
b Tyresof vehiclesare inflated only walow pressure in summer seasons. Why?
Lrwer @y TWO guestions from 1010 12. Each question carries 4 scores (2x4=1§)
10244 81, of a gaseous compound, keptat STP weighs 324
) How many moles of gas is mentioned here?
b} Find the number of molecules present in the given volume of gas.
¢) What i the molecular mass of the given compound?
11, Aportionofthe modem Periodic Table is shown here, by including th:. symbols of a few
chements The symbols shownare not the real ones). Examine it.
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Based on the table, answer the following questions.

1) Identify two elements which may exhibit variable oxidation states.
b)Which one is the most reactive non metal ?

~ ¢/Whichisthe clement with the lowest ionisation energy?

12 Teun can form two types of chloride compounds, FeCl, and FeCl,.
%) Name those two compounds. :
B) Wiite down the syfibol of the ion of Iron present in FeCl,and in FeCl,
€) Wit the sub shell electrun configguration of the ion of ron in FeCl, .



